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‘For each question from 1 to 20, four options are given. One of them is the coprect
answer. Make your choice. (1, 2, 3 or 4). Shade the. correct oval (1 2 3 or 4) on the
Optical Answer Sheet.

1. Which of the following items is not a matter?

1) Flour
{(2) Music
(3) Raindrops
(4) Earthworm

2. Which of the following statements about matter are true?

K All matter can be seen. ,

X Only solids and fiquids are matter

$27.  All matter has mass and.occupies space.

\B7  Onlyane state of matter has a definite shape.

(1} A only

(2} Aand B
3) . BandC
(4) Cand D




Which state(s) of matter has/have a fixed volume?

(1)
(2)
(3)
4)

Solid only

Liquid and-gas only
Solid and liquid only .
Solid, liquid and gas

Peter Wantedtd find q»ut'abo'ut the properties of a given Matter X. He pfaced -
150g of Matter X in container P and Q respectively. He discovered that the
volume of Matter X in both containérs was the same.

Stopper
Stopper-——

Container

Which of the follovf?slare most likely to be Matter X?

A
B:
C:

(1
(2)
(3
(4)

Soiid
Liquid

Gas

B only
C only
A and B only
B and C only




5.- Dan measured Kis body temperature in his room as shown in the dlagram
~below. Hls room’s temperature is 30°C. :

ulb of 'rﬁercur-y‘ - Cbnsl'rit_:tion

Stem

What is his body temperature?

(1) 30.0°C
@ 350°C
(3) 37.2°C

(4) 432°C

6. Why do.we use mittens to carry het utensils in the kitchen? |

Mittens

(1) Mittens can keep the food hot.
- (2) Mittens atiow heat to escape easily.
. (3) Mittens are poor conductors of heat. -
(4) Mittens can conduct cold air to our hands.

7. Which of the following does not pr;_oduce both heat and light?

(1) Fire

(2) Star .

(3) Boiled water -
{4) Candle flame



8. Which of the following items are classified correctiy?

. dmirror, - .. tissue paper

[@/ . foodfim wrap . . * sunglasses. " mirror

" 1@ | réading spectacie lens | fostediglass | Sunglasses

(4) ' Esﬁngiasses ltissue paper N frdsted glass

9. The diagram befow shows a meiting-popsicle.

_- _/F’_gésicie )

Which of the following states the bhénge in the properties of the popsicle
correctly? ' ' ‘ 2 ‘ '




‘What of the following item's bestrepresent

.10, -Study the flowchiart below:

Yes

Has afixed /| Yes~
shape?

" Has a fixed

No:

Y

Can. be.
compressed? |

flowchart above?

volume? |

A;B,CandD respectively in the

. Wind

Shadow

Ice

Wind

Sponge

Ice

Shadow.

- Mitk




11.  John carried ot an experiment where he filled a beaker with waterup to its

- brim. Then he put a stone info it and recorded-his observation as shown in
the diagram below.

. Stone o wa
A — : Waterfilledup . -
T ‘f'\l /jc_;_the brim

YTl YT

Beaker_J_"_T_T 7 > - ===
T Z Ty
: - - ——J L_ . — J‘?.

Before Atter

" Which of the following conclusions can he draw from his.observation?

(1) The stone has mass. |

(2) The stone occupies space.
{3) The stone has a definite volume.
{4) The stone cannot be compressed.

12, "The following items, W, X, Y and Z, are placed on the balance as -s‘hown
" below. ' .

They are then arranged based on their mass. Which of the following . shows
correctly the arrangement of the mass starting from the smallest?

M W, XY,Z
(2 X,WYZ
B VY. X 7Z

4 z




13. The diagram below shows a glass bottle contatmng 390 em® of air and a
~ syringe containing 50-cm? of air:

50-cm?® of air

300-cm®
— glass bottle

" What would be the volume of air in the glass bottie when alt the air in the |
syringe is pumped into the glass bottle?

¢l 50 cm®
[¢3) 250 cm®’
(3) 300 cm®
) 350-cm®



14.  Sally prepared a'--set—upby- putfing some ice cubes in a bowl. She then
pfaced it on a weighing scale and took the reading as shown in the diagram
below. ‘ '

_ She then left the above set-up on the'kitchen_-table for 1 Hour with room
temperature at 30°C. After 1 hour, afi the ice cubes melted completely into
water. She then weighed the set-up again and took the reading.

Which one of ‘the'fol[owin'g correctly shows the reading. on the weighing

scale?
(1) @)
@ @




15. The diagram below shows two flasks that are connected by a glass tube.
There is a drop.of ink in‘the tube.

v ink—.drop_

glass tube

glass —/
flasks

X Y

What _sho'uld'l-)e done to the above set-up to move the ink?dfop towards
flask Y?

(1) Put both flasks in cold-water.’

) Put both flasks in very hot water. o
(3) Put flask X in cold'water and flask Y in hot water.
C)) Put flask X in hot water and flask Y in cold water.

16. Some ice cubes are added to hot tea as shown in the diagram below.

" Beaker

ice cubes

ot fea

Which of the following changes are most likely to take place?

The ice.cubes lose coldness to the hot tea

The ice cubes gain heat from the hot tea.

The hot tea changes from liquid to solid state.
The ice cubes changes from solid to liquid state.

opE>

(1) A and B only
(2) B and D only
{3) C and D only
{4) A, C and D only



17. Christopher .poured,\sg’me amount of boiling water into four cups of the
- same shape and size. The four cups are made of different materials, A, B,

C and D. He measured the changes in‘temperature of the water in the cups
and recorded the results in the graph below. '

Temperature °C
4
00°C —

o . [ > Time (ml.n)
30 60

He then classified the materials according to their H‘e_greedf heat
conductivity. Which. of the following is classified correctly? -

10




18. Alex is facmg his rriirror-. and .standing: towards the right of the mimor in a
. brightly it roem. With" the ceiling tamp 1it above *Rim; hé can see the
reflection of his toy in the mirror: Lol S S

.- ~Room

Which of the positioﬁé,' A, B and C, will Alex's toy r_-nd'st likely be?

q0) Aand B only
{2) B and C.only
(3) A and C only
(4. ABandC

I



19.  John conducted the exp’erini'eht in a room in complete darkness.

o :He has arranged sheets E. F, G and H in a straight line as shown in the
diagram below. Each sheet is-made of a different material. John has
made a star shaped hole on E. ' '

What type of matérialé should sheet E.F,G and H be for.-him to cast a
faint shadow on'sheet H? : , '

: (1 - transldce transpa_rgenf-. trénspa{rg'qt 'tra'ns_'lucnt -
(2) lopéque B ténsparent - tra‘nsl.ﬂt:ent- opaque
1) | transparent fransparent - transiug&;ent:_' | opaque
' (4) | opaque E trah-sl'u.t.;en_t trapsp'asrént' ' transi_ucent

i2

e




- 20. The following dxagram shows the shadows (A, B, C and D) of the poles at
different times of the day respectwely

Pole

AV “ c ‘Shadow

‘Which of the foliowing correctly shows the shadow cast at-6p.m.?

1) A
{2y B
@ C
4y D

13 -
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. Wirite your answeis to question 21 to 34,

The number of marks available is shown in brackets [ 1 at the end of each.question-or
part question. ' '

21.

James set up the experiment as shown below. He pds‘he‘d the plunger of the.
syringe and managed to insert all 500cm? of Substance X ifito the tank, When'fis

repeated the experiment with _Substance‘ Y, he-could.not insert ali the -

Substance Y into-the tank.

: Syr’inge o
Plunger  500-cm® of 400-cm® tank
Substance X :

(a) Whatcan yoLl conclude about the propértieé-df-Subsiance Xand Y? {2]

(b)  Give an example of Substance X and Y : {1]
X -
Y:
Score ‘




22.

Anice cube was lefton a tab!e in room temperature of 30°C. The ice started to
metlt as shown in the diagram below.

ce

(@)  Name the state of matter (abelled A and B réspectively. _ 1]

A

(b) Based on your answer in (a), state a difference in the property between
the two states of A and B _ o : 2

Score

5




23..  Sally poured one litre-of water from the bottle into the beak'ér as'shown below.

21
-— 1-litre bottle

14

ST EREREEN

)

T

2-itre beaké;

(a) In the diagram above, draw a line in the beaker-to show the water level
_after the water from the bottle has been transferred.into it. Sk §

. {b) From your answer in (a), what can you conclude about the property of
water? . o . {1}

] Score

16




24.  Ali placed the following set-ups in an air-conditioned room with a temperature
of 16°C as shown in the diagram. ' : :

Thermometer E‘h\

Ly

i

et ol s W i L ol

"

 Set-up A Set-up B .

-He .predicted that the temperature recorded. by the thermometer in Set-up 8 will
be-higher than that in Set-up A after 1 hour. : ‘ '

-{a) Do you agree with him? Give a reason for your a‘ﬁswer.- ' 12}

(b) . Whatis most ﬁkely to be the tefnpie‘rafgwé"'fecorded by the thermometer
in Set-up B if the same experiment is Tepeated where the woollen sock
is replaced by a metat tin? S L &5}

Score

17



25. Classify the following corr;ectly-'-into the classification table below.

Aluminium foil “Stars Moon
Mirror o Torch - Lamp post

3]

Score

18




26, P'ete"r conducted an experiment to test if air is a matter. He ‘hung two balloons,

X and Y, at both ends of a pole and observed that the set-up was balanced as
shown in.the diagram: below. ‘ : '

Stﬁng\\[ f’o!e

{a) Describe what would be observed to the set up when Balloon Xis

inflated. , - 1]
{c) Based on your answer in (a), what can you conclude about the property
of air?. ' (1}
Score
2

9



27.

container

Dave-conducted an-experiment to test which setup atlows water to flow info the
container more quickly. He prepared set-up A and'B as shown in the diagram
below. He then slowly poured the water from the beaker into the funnel of set-
up A and B respectively.

. water

funel—  /

i container

{ J ] ]
A | | B
(a) Which setup allows water to enter the container faster? - =~ - {1]
(b} . Explain your answer in (a).
o - {2}
‘Score
3




28.  Dan gently placed a ball of plasticine into a beaker containing 100 cm?® of water.
The volume of the plasticine and water is shown in the diagramibelow.

N (

—Beaker

(@ Whatis the volume of the plasticine? - ‘ 11

!

After.-that, he took the same plasticine and moulded. it into the shape of a
triangie before he placed it into another identical beaker containing 100 cm® of -
water. e

{b)  What would the new volume observed when he lowered the trianguiar
plasticine into the beaker gently? Explain your answer. : i2]

Score

21



29. -Mary failed to 4it a plastic ruler into an iron ring. She 'the-n heated the iron ring

and managed to fit the plastic ruler within the ring as shown in diagram 2.

Plastic Piastic
‘ ruler ruler
lron -
rng ——— -
Diagram1 - . Diagram2
(a) -Puta tick in the box below to indicate the item(s) that gained-or {ostheat
respectively. . : _ {1
ftems Gain heat ~ Lostheat ;.
Ring 1
Plastic ruler 1
' (b) When the heat is removed from the iron ring in Diagram 2,-what would
T ' happen to the plasfic ruler within it after half an hour? [1]
? (c) Explain your answer in {(b). {2]
Score
4




Temperature (°Cy

Fred [eft a cup of lukewarm water in an air conditioned room for ten minutes.
He recorded the temperature of the water in the table below.

Time (min) T T'em'perature (°C)
0 30
2 26
4 24
G 22
8 20 -
10 .20 -
14 ?.
{(a) Plo‘t a line graph according to the results shoﬁ_vn in the table above.  [3]
40,
30 =
‘-' T
20 -
10 .
. 0- :
o 2 4 6 8
Time (min)
(b) Predict the temperature of the water recorded at 14" minute. (1]

Score

23




31.

Caiwel wanted to-determine which-metal, Rod A and B, is a better conductor of
heat. She inserted equal lengths -of -both ends of the rods into a tank of hot

‘water and attached identical nails -to the tods using the same amount of wax.

She set up the experiment as shown below.

Water at 90°C

6)- ) | . énk.

nails

_ Her friend told her that her set up.is incorrect. Sﬁg’,f‘ge;ift‘wg chaingeé slﬁeJShoul.d

make to the set-up in order to conduct a fair test. . o 2}

-('a): |

(b)

1 Score




32.Two men are walking together to hire a taxi at night. Man X is wearirig a white
‘ suit, while Man Z is wearing a black suit. A taxi is approaching them from a
- distance. :
o =
{a) Which man. X or ) would the taxi driver see more clearly from a distance
at night? Explain your answer. : 21

(b) On-the diagram befow, draw ray of light to show how light-from the car's
' headlamp reaches the driver so that he can see the man stated in your

answer in (a). | o . o f11

Score

25



33, Jamie Aused_'a light sensor connected t6 a computer to measure the amount -of
light that was able to pass through different materials, A,B and ‘C as seen in
the diagram below.

Material tested

Light sensor connected
{fo computer

Jamie recorded the results in the table below.

“Material ~ Amount of light (Lux)
A _ T 80
B Bl 0
T T 330

(a} Arrange the materials in accordance to-the degree of transparency
starting from the least transparent

1]
' ,(b) Which matenal will produce a faint shadow when placed in between a
light source and a screen? _
A7
(¢) Explain your answer in (b). {1]

_ 1 Score
26 | : ' 3




-34. Alvin wanted to test if the position of an object affects the length of its shadows

' He placed a wooden block i between a torch and a screen as shown.in the
diagram below. Then he measured the height of the shadow cast on the
screen. Next, he repeated the experiment in different positions by adjusting the
distance between the screen and the wooden biock.

Alvin recorded the results of the experiment in ihe table below.

Position | " Height of shadow
X q7om .
Y | 26 om

Z L | | ' 14 cm :

$8 wooden block ]
P . {——Screen

Position | 4 1 i 1

(a} Label the different positions (X, Y or Z) of the wooden biock in the
diagram based on the results in the table above. Write them in the boxes
provided. _ _ [11

| |  wekwern W disfone of
(b) From:the results in the table, what is the relationship between-the-screen;
. o A

¢ shadou?

the vooden Hak fromThe, screen ard e Weihfot i -

'End of Paper

Score

27
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21)a)Substance X is'a gas as gas can be com;iressed and substance Y is a liquid
cannot be compressed.
b)X: air Y:water

22)a)A: solid B: liquid
b)Matter A has a fixed shape but matter B does not has a fixed shape.

23)a) L 4

Fl

R Pptn——

‘;.-‘.:.:'I:))Wa_ter has a fixed volume.

24)a)I disagree with alive. The woolen sock is not a heat source so it will not cause
the thermometer in the sock to increase.

b)16°C

igjLight source Non-light source
Torch Aluminium foit
Stars Mirror
Lamp-post Moon

26)a)The side of the pole with balloon X will tilt downwards.
b)Air has mass.

Pagelto 2 page 1




27)a)A. ‘ ’
b)Water in set-up A flows more quickly as the air in the container is able to-
escape through the hollow gas tube and and. allow the water to occupy the space. In

set-up: B the air occupying the space is not able escape. Thus preventing water from
entering quickly.

28)a)60cms. :
b)160cms. The plasticine has a fixed volume but no fixed shape so the triangle
plasticine is also the circle plasticine.

29)a)Gain heat Gain heat
b)The ruler will break.

. . -.C)The Iron ring lost heat to the surroundings air and contracts. The plastic ruler
will not be able to fit in the smaller ring. '

30)a) |
10
T
P g ”
| E 20 pd
TR d
i E 7
E -
i 10
}
.
1; o ‘2 4 6 8 10
i
| Time {min}

b)20°C.

31)a)The rod should be the same length.
b)Position the nails in the same position on both rod.

32)a)The driver could see Man X more dearly as his white suit reflects more light
from the head lamp into the drivers eyes than the black suit of Man Z.
b) .

33)a)B, A, C. b)A.

C)Material A is translucent it only blocks the path of light spastically so it forms a
faint shadow.

34)a)Y,X,Z. b)The further the distance of the wooden block from the screen the
longer the height of the shadow.
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